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Instructions:

(i)  This question paper contains three Parts : ‘A’, 'B' and 'C".
(i) Part'A’is compulsory for all candidates.
(i) Candidates shall attempt only one part of the remaining Parts 'B' and 'C'.
(iv) All parts of a question should be attempted together.
(v) Marks for each question are indicated against it.
AR - & (IETRITA)

Part - 'A' (Accountancy)

1. @ UR "eay fegsi @ warse e et o # srava & et foar s e
2

Give any four important points which must be incorporated in a Partnership
Deed.

2. 3 % B 94T S WEER! & U] @ & 3fde vd Hide val § yrr weRia @ dl 2
State the items that usually appear on the debit and credit sides of partner’s

current account.
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3. 37 3R qEifter sie & @ s 2P 2
What is the difference between equity share and preference share?

4. B A ey gaEe e T siw Mgy & ma e &1 3w fGar s @ 21 2
Give any two purposes for which amount of share premium received can be
utilised.

5. & @ s A o fic S A UE WaT T 1,00,000 H 59 fbanl ¥ 10,000 @ YTRIH
5 T e 9 eeRiR & o wem & 6w st &1 4T T 100 F® ATt 10%
FOTTE P 10% & 78 R Fifira ax o som| v & & T S ! A S1agad S
yfafteat e 3
ABC Company purchased a building from Blue Print company for ¥ 1,00,000.
Payment was made ¥ 10,000 as cash and it was agreed that purchase
consideration be paid by issuing 10% debentures of ¥ 100 each at discount of
10% for balance amount. Give necessary journal entries in the books of ABC

company.

6. X TP A ¥ WEER 2| T8 YIS HIE & 35 A T 200 ER0T TWEY fHarerar 21 3w BH A
5 % 8000 &1 & B B 1 FAE, 2016 B T 4000 T HOT | Lont, FHEROT AR HOT W
T B &R 5% Wiad &1 geasd wid ¥ 31 R @ s gt &1 &S B AR B W0
»ifse| 3
X is partner in a firm. He withdraws ¥ 200 at the end of each month. His capital
in the firm is ¥ 8,000. He gave a loan of ¥ 4,000 to the firm on 1% July, 2016.
Rate of interest on capitals, drawings and loan is 5% per annum. Books are

closed on 31% December each year. Calculate the amount of interest.

7. &1 3R YT WA O afed) R R 1 & W A e & 1/4 e & fove e &
T 3 T 1500 e & Mfeem # ¥ 3 1000 MfRem e & &1 BH B qRa@ A @i
% 8000 9§ ¥ & Wel¥a &1 s wafear Sl 4

Hema and Prema are partners sharing profits equally. They admit Seema for
1/4™" share in profit. Seema pays T 1000 in cash for premium out of her
premium of goodwill ¥ 1500. Goodwill already appears in the books of the firm

at ¥ 8000. Give journal entries.
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8. v fifiRs 3 T 10 & 3000 T 3% W Hea W Fifa fel § il W yae e
RE ST R ¢ T 2 3TAE W, ¥ 3 3Med R 3R T 5 W v 3ifa e W A, 3 800
st @ R 2, 3 o 3R A AT @ Y T 5 j1 316 3k 3 B 0T %
fear T 3R 3 5% @ W g Frffrm far man 1 v ffds @ g § e
s wfafedt Sl 4
Y Limited issued 3,000 equity shares of ¥ 10 each at par. On these shares
payments are to be made as follows: ¥ 2 on application, ¥ 3 on allotment and ¥
5 on first and final call. Mohan, who is a holder of 800 shares, has not paid the
first and final call. Hence, his shares have been forfeited and have been reissued
at a discount of 5%. Pass the necessary Journal entries in the books of Y

Limited.

0. s RifE 3 1 7R, 2016 B T 1000 TG 2000 FOIGA T 50 SR FOTH B FEKl W
R fow| €I @1 YT X 200 G W, 2 400 3He W 3R 2w s 3R St ATt
w far ST a1l e Rfie @ [as! § snawas s vfaited Sifeel 4
On 1 January, 2016, Akash Limited issued 2000 debentures of ¥ 1,000 each at
a discount of ¥ 50 per debenture. The amount was to be paid ¥ 200 on application,
¥ 400 on allotment and the balance on first and final call. Pass the necessary

Journal entries in the books of Akash Limited.

10. Rt RraRor & a§ 2012 & fe o vd 2 @@ ¥ $ike 3 TR AN 9 B eI

F} MO DT ¢ 4
3

(i) of 2012 # W@ T 15,000

(i) af 2011 & 3T H Jed T 2,000

(i) 31 =R, 2011 @ A F W T 1,000

(iv) 31 R, 2012 @1 3w A o T 3,000

(v) 31 feomR, 2012 @Y 3T o< 5,000

From the following particulars calculate the amount of subscription to be
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credited to Income and expenditure account for the year 2012;

(4
(i) Subscriptions Received during year 2012 15,000
(i) Subscription Outstanding at the end of year 2011 2,000

(i) Subscription Received in advance on 31 December, 2011 1,000
(iv) Subscription Received in advance on 31 December, 2012 3,000

(v) Subscription Outstanding on 31 December, 2012 5,000

11. FrafaRea & oo Jsammn wfafedt dfswe - 4
(i) 100 5 W ¥ 1,00,000 & 6% FOGA B FHd W e 3k Fovear R Al
(i) T 100 YIS W T 1,00,000 F 6% FOWA B 5% & R i 3k 5% Nrm &

T A |

Give the Journal entries for the following :

(i) Issue of ¥ 1,00,000, 6% debentures of ¥ 100 each at par and redeemable
at par.

(i) Issue of ¥ 1,00,000, 6% debentures of ¥ 100 each at discount of 5% but
redeemable at premium of 5%.

12, Fr=forRaa faavor & 31 e, 2016 & g B9 aret a¥ & T AmTH TR e @ SR
Fifsw 6
3MH -

e & foft @ 2 60,000, T/ sr@aRi B gt 2 500, Bfew & fore g T 2000, ffde
T 200.
af 2015 & fow T=aT 9T 2 4000, @ 2016 & forw TwaT W T 25,000, I 2017 & e T
oI T 600.
e -
éa:rfeooo,qma?1000,@%@&2%913%?500,3%@&37{?1000,1%13?{?400,%%{:
T 200, &= @1 fMfor ¥ 50,000, 3@ER ¥ 1000,
Y A 9B AP ¢ 1 T, 2016, T 1000

31 feweR, 2016 ¥ 33,200
(i) a¥2016 % forw ¥ 1200 &7 7= agE A B
(ii) 37T g : ARG T 100 FAT BUE T 400 |
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From the following informations, prepare a Receipts and Payments Account for
the year ended on 31 December 2016:

Receipts :

Donation for building ¥ 60,000; Sale of old newspapers ¥ 500; fees for coaching

T 2000; Sundries T 200.

Subscriptions realised for 2015 ¥ 4,000; Subscriptions realised for 2016
¥ 25,000; Subscriptions realised for 2017 ¥ 600.

Payments :

Salaries ¥ 6000; Repairs ¥ 1,000; Printing and Stationary ¥ 500; Rates & Taxes
¥ 1,000; Electricity ¥ 400; Sundries ¥ 200; Construction of Building ¥ 50,000;
Newspaper ¥ 1000

Cash in Hand:

1st January, 2016 ¥ 1000

31st December, 2016 ¥ 33,200

Other Informations:

(i) Subscription to be realised for 2016 ¥ 1200.

(i) Outstanding Expenses: Repairs ¥ 100 and Printing T 400.

13, 1 51, 2015 B &, § 3R § 3 WERT § HHEn: T 10,000, T 6000 3R T 4000 B T &
T 5T fobaT| 9 T B JIf @Y 5:3 7 2 & U § i e W wewa gel af 2015
% 2R 35 STEROT & : 31 72,000, & % 1,500 3R |- 2 1,500 | | @ T 1200 77 7§ e
T R BT SR 81 Yo7 3iR 3MER0T R @15 6% Wierad & &= ¥ eman w1 &l TR
wal & TR § qd 31 eaR, 2015 & WG @ i ¥ @1 @ T 9,200 T
Y e g FEeE @ & gel 6
On January, 2015 A, B and C entered into partnership with capitals of ¥ 10,000;
¥ 6,000 and T 4,000 respectively. They agreed to share Profits and Losses in
the ratio of 5:3:2. During 2015 their drawings were: A - ¥ 2000; B - ¥ 1500 and
C - ¥ 1500. C is entitled to receive a salary of ¥ 1,200 per annum. Interest on
capitals and drawings is provided at the rate of 6% per annum. Before adjusting
the above items, the profits for the year ended December 31, 2015 was
¥ 9,200. Prepare Profit and Loss Appropriation Account.

3ra (OR)
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(@) e, At o harer v o A R 9 S A A 30 2 % o afed
I FEH Hiawr & emv-a &1 3 : 2 - 1 & U F aie @ Fiofg foran) emw-fae=
rara # IRad & SROT IR BT TH-HI 3rdT G BT AU S Bieel 3

(@) P, Q3R R va v # Fer & 32 fiee or auf & sitva &1 & ek R 9 asf
& BT Ird W WM @il Biem &1 ot foran fres o) a5t & o e ve & -

ay §
I 20,000
I 5,000 (1)
I 10,000
vV 3,000
@i & T SifFT 3

(a) Rohit, Mohit and Gopal were partners in a firm, sharing profits-losses in the
1,11
ratio 3'8 3 They decided to share future profits-losses in the ratio of

3 :2: 1, Find each partner's gain or sacrifice due to change in the ratio.

(b) P, QandR are partners in a firm. They decides to raise Goodwill Account on
the basis of three years' purchase of average profits of last four years. The

profit of last four years are as follows -

Year Ed
I 20,000
I 5,000 (Loss)
m 10,000
v 3,000

Calculate goodwill.
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14. P AT e ST Y 5000 THAT 379 T 10 Wi 379 & X F T 2 Ui aier Nmm w®
frifia {61 g9 W FeagaR aRifyr & a@nt-

e W % 2 g aier

T | 3 5 ufd 3 ( 2 2 Nfyaw afza)
TUH graer W % 2 gt aiwr

feirr vd 3~ AT ® % 3 ufy aie)

I BT 6500 3TN & [T 3mdaT ST gul 500 3E & 3mded PR f6d T 9w sdee!
@ UGS H&e a1 Tl v 500 379 & 3ieremt 3 s ara &1 e ) fesan)
ma:mﬁsaisﬁaﬁaaaﬂ%mwma%&nﬁswﬁaﬁmﬁrmﬁaﬁgqﬁiﬁa
fosa | S vfafear el 6

A limited company issued 5000 equity shares of ¥ 10 per share at premium ¥ 2

per share. The amount will be due on these as follows-

on application ¥ 2 per share
on allotment ¥ 5 per share (including premium ¥ 2)
on first call ¥ 2 per share

on second and final call ¥ 3 per share,

Company received applications for 6500 shares. Application for 500 shares
were rejected. Pro-rata allotment were made for remaining applicants. A share-
holder of 500 shares has not paid the final call. So his shares were forfeited.

Forfeited shares were reissued @ ¥ 7 per share. Give journal entries.
Jyar (OR)
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v & 4 forffids 3 T 100 3@ 10,000, 6% FoToEt B AR fhan| eFRIfY e R 2 o-

A | T 20 yfa womam
e | 7 50 ufa oA
WU AT IR T 15 9id ROT9H

e ve s g R T 15 yiq woms

12,000 SOTTAT & A T Ul 2,000 HOTAT & NAEH I 3de= I qad HI T
X, 3 100 FOTGA BT ACH o1, 7 A $ 0T I T & g0t o) € & iR
Y, 3T 200 FOWE BT FOTHURT AT, AT AT & H 3R @
v & fufiRs & g § s sfefeat afswl 6
ABC Limited issued 10,000, 6% debentures @ ¥ 100 each.

The amount was payable as follows :

on application ¥ 20 per debenture
on allotment T 50 per debenture
on first call ¥ 15 per debenture

on second and final call ¥ 15 per debenture

12,000 application for debentures were received. Application money returned
to applicants of 2,000 debentures. X, applicant of 100 debentures, paid the
entire amount on his holdings on allotment and Y, the debentureholder of 200
debentures failed to pay final call.

Give the journal entries in the books of ABC Limited.
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15. 31 Ard, 2016 & A 3R B &1 F=fefaa snftie fugr ar, 3 et aer af=t @ 2/3 qeor

1/3 & U H Fied & -
T geRINT (3) | R (%)
$I @ ;3 o 25,000
A 15,000 o7 3R 791 17,500
B 10,000 25,000 | wi® 10,850
fafer @R 32,950 | fafger d=eR 4,000
8% o APs 600
57,950 57,950

FEH C @ 1 38, 2016 ¥ Fr=ifera ot ) 9@eRY § a9 &3 W gealy &

(31) C &t et # 1/3 e f&an smem @ ag s i & fore 2 7,500 e @nfy & 3w
& foe T 3000 @)

(§) Wid T T3 U8 FAR & qeT H 5% P HH A 2

() fafdy emert w wfafa & e 12.5% &1 g3 @<= 2

F) ¥WEE W 10% & W J &G 7 2

(@) i & AR R AR S GRT P E 2

T B B gEP A YIS @K @fere v T4 6o @ s fgr ssel 8
The following was the Balance Sheet of A and B on 31st March, 2016 who share

profits and losses in the ratio of 2/3 and 1/3:

Liabilities Amount T Assets Amount ¥
Capital A/cs: Building 25,000
Plant & Machinery 17,500

A 15,000
B 10,000 25,000 Stock 10,850
Sundry creditors 32,950 Sundry Debtors 4,000
Cash at Bank 600
57,950 57,950
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They agreed to admit C into partnership on the following terms on 1st April,
2016:
(a) Cisto be given 1/3 share in profits and is to bring ¥ 7500 as his capital and
¥ 3000 as his share of goodwill.
(b) The value of Stock and Plant & Machinery is to be reduced by 5%.
(c) A Reserve of 12.5% is to be created in respect of Sundry Debtors.
(d) The building is to be depreciated by 10%.
(e) The Goodwill is to be withdrawn by the old partners.
Open necessary accounts in the books of the new firm and prepare Balance
Sheet of the New firm,
3@ (OR)
A, B 3R C vd wH § wmer ¢ ok amdl sk el & R e A aied #1 =R
31 A1, 2016 & BH & e a1l 39 aire @) 39 o @1 Rz Bt o

gt ORI (3) | et R (3)
THER 60,000 | R Tt 1,00,000
qair 2 TS, TR 40,000
A 30,000 APs 10,000
B 30,000
C 30,000 90,000
1,50,000 1,50,000

W 35 GO qed ¥ 10% B IEE §el SRR S [T Y Rbar man| wHeE
4 X 500 8, It Tadt # e foar | v Wit aifte & R, Brd st §
DS EwR FE Y, T 500 PWAH Be T 3EvTE @R TR 8
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A, B and C are partners in a firm and share profits and losses equally. They

dissolved the firm on 31st March, 2016. On this date the Balance Sheet was as

under:
Liabilities Amount Assets Amount
3 T
Creditors 60,000 Fixed Assets 1,00,000
Capital : ¥ Current Assets 40,000
Cash 10,000
A 30,000
B 30,000
C 30,000 90,000
1,50,000 1,50,000

10% less than book value from assets was realised. Creditors were paid in full.
Dissolution expenses amounted to ¥ 500 which were paid in cash. An amount of
¥ 500 was paid for contingent liabilities for which no provision was made in the
books of accounts. Prepare necessary Accounts,

a1 - ‘@’ (el faravon a1 fareeiaon)

Part - 'B' (Analysis of Financial Statements)

16. A3 WO R0 & PIE A1 9N FAE0| 2
Explain any two uses of Cash Flow statement.

17. fadirg faaror @ sref samgel 2
Give the meaning of Financial statement.

18. fifesa srqumt & o g7 fofae: 3
(1)  ZROT-GHAT 3T
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(i) B A U
(iii) T 3O
Write formula of calculating the following Ratios:
(i) Debt Equity Ratio
(i) Gross Profit Ratio
(i) Proprietory Ratio
19. foxiir srumet & ¢ S ol @ wEeEw
Explain any three advantages of Financial Ratios.

20. X fofits & wriee 4o & Refy Rrerifed 2 -

T, e 2 TS, et z
T 28,000
TFER 24,500 AR 17,500
d& aftrfaay 10,500 LGS 3,500
35,000 49,000

(i) ey g ed

(ii) TR FUE B T B

The working capital position of X Limited is as under:

Current Liabilities 4 Current Assets T
Stock 28,000
Creditors 24,500 Debtors 17,500
Bank overdraft 10,500 Cash 3,500
35,000 49,000

Calculate

(i) Current Ratio and

(i) Liquid Ratio.
432(102) [12]
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21. '3 X B foxirg Rerfa 31 9w, 2013 vd 2014 @ fgaa o 6
§5h od @i | 31.03.2013 | 31.3.2014 | wwfadl | 31.3.2013 | 31.3.2014
2 ? 2 2
T, T 36,000 41,000 TS | 1,07,000 | 1,22,000
®wr | e 20,000 uerT gRI| 27,000 36,000
45 0T 30,000 25,000 80,000 86,000
4ot v W 1,48,000 | 1,49,000 CE| 50,000 55,000
ufy 20,000 30,000
Y 25,000 22,000
TR 35,000 38,400
3 4,000 3,600
2,14,000 | 2,35,000 2,14,000 | 2,35,000

q§ & SR T 26,000 TIHA & T § YHaT v M|
Ade TaE faaxur FaR Sl hitps://www.ukboardonline.com

The financial position of a firm as on 31st March, 2013 and 2014 was as under:

Capital and 31.3.2013 | 31.3.2014 | Assets 31.3.2013 | 31.3.2014

Liabilities k4 X T 4

Current Liabilities; 36,000 41,000 | Machinery | 1,07,000 1,22,000

Loan — 20,000 | Less: Dep. 27,000 36,000

Bank Loan 30,000 25,000 80,000 86,000
Capital and

Reserves 1,48,000 | 1,49,000 | Building 50,000 55,000

Land 20,000 30,000

Stock 25,000 22,000

Debtors 35,000 38,400

Cash 4,000 3,600

214,000 | 2,35,000 2,14,000 ;| 2,35,000

During the year ¥ 26000 were paid as dividends. Prepare Cash Flow Statement.
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AT - W (3fpfera eraie)

Part - 'C' (Computerised Accounting)

16. ¢oft vd oo & W B nEEe) 2
Explain the relationship between Tally and Accounting.
17. orEiea # abelic &1 @ 3w 7 2
What is the use of worksheet in Accounting?
18. va¥ie # B T B% & B 99 Jamsor AfSw 3
Give any three examples of entering formula in Excel.
19. SLdLenod. & &% a9 av sdEe) 3
Give any three advantages of D.B.M.S.
20. vawel # UIC & B g 9hE &2 wHaEr) 3
What is the process of creating chart in EXCEL? Explain.
21. (@) ﬁ%w%mw%ﬁaﬁmmaaﬁm%@muﬂw
forfae: 4
HOT BRI % 8000
T DI 31afY 4 3§
A foseat & emmifdy 200
et @ wvar 48
(a) Write Spread sheet formula to find out monthly and annual rate of interest
on the basis of the following informations:
Loan Amount T 8000
Term of Loan 4 years
Amount of monthly Instalments T 200
Number of Instalments 48
432 (10Z) [14]
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(W) 'PMT' G @I JaTeRvT Higd THeEe)

(b) Explain 'PMT' function with example,

* KKk Kk

https://www.ukboardonline.com
Whatsapp @ 9300930012

Send vour old paper & get 10/-

o U 9E 8 3R 10 I 9,

Paytm or Google Pay &

432 (10Z) [15]

https://www.ukboardonline.com



